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1 |EZgsd |EXE+Y 0 0 0| AR H| QIZH| 8,400,000 708,380 -7,691,620
2 |[2Ha=xY [2EExY 40,000,000| 40,000,000 O|AHFH| A2 3= 3,400,000 3,400,000 "
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4 |0|EF O|ga 34,000,000 26,323,447| -7,676,553| {AFZ=AH| [ A]AH]| 50,020,000 20,000,000| -30,020,000
5 |E+¢ P ey 32,600,000 3,276,553| -29,323,447|H=3 ME3 90,000,000| 78,000,000| -12,000,000
6 Aels Sxjatsi2 23,000,000 48,500,000 25,500,000
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3 |2EaxY [2EZ+Y 38,000,000| 32,000,000| -6,000,000 | AFFH| 24| 110,700,000| 109,300,000 -1,400,000
4 |HYa & 8= 24,000,000| 14,000,000| -10,000,000|XjAtZ=AH| | A|AH| 33,000,000 36,000,000 3,000,000
5 |0|8=a o|ga 16,900,000| 11,539,776| -5,360,224 | At €iH| gy 135,500,400 140,100,000 4,509,600
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